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The HALVING algorithm for sequential predictionn.

GIVEN : "example space" , a set X.

"hypothesis class"
, a set M= Eh : XEvis3,
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In each of T "prediction rounds" :

O Example NEX presented to learner.

① Learner must predict &Ed , 13.

③ Label Yes is revealed.

Penalty is 1 F Yc] =GA
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Each element in It votes

on whether ye0 or Yet
.

Predicpf recording to majority vote.
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If we assume I helf that satisfies

Eye Et, 1951-1 because heft.

Since every
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by at leastA,
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The WEIGHTED MATORITY algorithm .

Each helf has a weight Wi
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At time +, it hi made mitt mistakes
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, nor,,

its weight is

wilt) = (l-g)i(t) = 1 - a+ ...

e*1e always .
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Predictpf according to

weighted-majority vote of 94 .
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If W= with

Wherever WMAT makes a mistake

We (1-5) . IE

Suppose WHAT wakes M mistakes in total

and some left makes only
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(rx(1-W= n

T+1
Y

Wi(T+ 1) Crack
*

(1 -En
m
* In (-2) < min()-z) + b(n)

In (n)mm
(ox1) < 2(Irs)m* + Eh()




